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A LEVEL ECONOMICS COMPONENT 2

All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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1. (d) “The most efficient price for a train operator to set would be price = marginal
cost”. How far do you agree with this view? [8]
AO1 AO2 AO3 AO4
Band
2 marks 2 marks 2 marks 2 marks

2 2 marks 2 marks 2 marks 2 marks
Good Good application | Good analysis Good evaluation
understanding

Learner uses the | Clear chain of A well-developed

Understanding context of rail argument explaining | counterargument
that P=MC is services at least one of the explaining that
allocatively specifically to different types of achieving allocative
efficient and support their efficiency that a firm | efficiency may prevent
what this points. can aim to achieve other efficiencies from
means. in terms of why it is being achieved or is

efficient or why impractical.

failure to achieve it

would be inefficient.

1 1 mark 1 mark 1 mark 1 mark
Limited Limited Limited analysis Limited evaluation
understanding application

The explanation is Evaluation of marginal

Understanding Learner makes superficial with little | cost pricing is limited or
that P=MC is some reference development of superficial showing that
allocatively to the data/ what is actually achieving allocative
efficient context of rail efficient/inefficient. efficiency may prevent

services, but other efficiencies from

these references being achieved

are not well-

developed.

0 0 marks 0 marks 0 marks 0 marks
No valid No valid No valid analysis No valid evaluation
understanding application






Indicative content:

AO1

Marginal cost pricing is seen as allocatively efficient because the valuation placed on the
product by the consumer is equal to the resource cost of producing it/ societal
welfare/community surplus will be maximised (no deadweight/welfare loss). It is similar to the
idea that D=S in perfect competition.

AO2
Reference to the context of rail services/use of data

Data argues that in the case of fares being very high and a need to reduce fares

Rail fares have been increasing above the rate of inflation in most years (figure 3)

High levels of fixed costs may make P=MC a loss making strategy

CMA argues that non-price competition in the form of “new routes, destinations and
innovations” is important meaning that dynamic efficiency may be important.

According to Which?, “millions of passengers are not satisfied with the service that they are
receiving”

AO3

Allocative efficiency

Price greater than MC implies consumers are willing to pay more for an extra good than the
cost of the resources involved in making that good i.e. consumers want more and resources
should be diverted into the making of this product to increase overall community surplus. If
price is below marginal cost then more resources have been used to make a product than
the value consumers place on them, again implying a welfare loss.

Productive efficiency

Producing the output at which MC=AC means that unit costs are minimised, meaning that
the firm is maximising output with its inputs, avoiding wasted resources

Dynamic efficiency

High levels of abnormal profit allow for reinvestment into the business, allowing for
improvements in process (reducing costs further in the long run) or product (improving
consumer welfare in the longer run)

AO4

Producing at P/AR=MC will generally mean that profits are not maximised (not MC=MR)
reducing allocative efficiency and also will often mean not producing at MC=AC meaning
that costs are not minimised. Hence there may be a trade-off between the different efficiency

types.

Marginal cost pricing does not take into account the external costs of production where they
exist hence there could be market failure.

Marginal cost price may be difficult to calculate.

Marginal cost pricing is impractical in high fixed cost industries such as rail.

Marginal cost pricing does not necessarily achieve productive, dynamic or X-efficiency.

If MC pricing is just in the rail sector but not in other sectors or the economy it may actually

reduce social welfare and take the economy away from Pareto efficiency (theory of second
best).
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Sticky Note

The answer shows an awareness that P=MC would be the allocatively efficient output and makes some attempt to develop this idea, but not sufficiently to show ‘good’ understanding of what the concept involves – there is no sense of welfare maximisation, for example, giving AO1: 1.

The section on the uses of abnormal profit is effective – it uses the context of trains to some extent (wifi, fuel costs etc.) without being fully convincing (‘limited’ application; AO2: 1). The depth of explanation of the other efficiencies mentioned (dynamic and productive) through this and the next paragraph was good, giving AO3: 2. The natural monopoly counter-argument towards the end was well made, running along the candidate’s own argument about allocative efficiency generally allowing profits to be made (in their own diagram) and was developed, giving ‘good’ evaluation for AO4: 2. Overall this was worth 6/8.
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Sticky Note

This answer shows awareness that P=MC is the allocatively efficient output, but does not demonstrate accurate understanding of what that might mean, seeming to conflate allocative efficiency with productivity. Awareness that P=MC is the allocatively efficient output was worth ‘limited’ knowledge and understanding, giving AO1: 1. Throughout the answer, there is no use either of the case or of the context of the rail industry- the answer could be applied to any market and hence there was no AO2 awarded. The answer was able to analyse some of the other efficiencies, but as with allocative efficiency, there was a lack of precision in terms of what these efficiencies really meant, meaning that the analysis was limited (AO3:1) but there was a decent counter-argument about the extent to which high levels of profitability would be more efficient in the long run than accepting lower profits from being allocatively efficient, and this was considered to be good enough for ‘good’ evaluation, giving AO4: 2. This made for a total of 4/8.
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Sticky Note

This answer is very limited throughout. There is no understanding of allocative efficiency shown, with the answer instead arguing that P=MC is productive efficiency giving AO1: 0. The early part of the answer is not credit-worthy and it proceeds to inaccurately identify the profit maximising output as marginal cost=marginal profit, although the diagram correctly shows it as MC=MR. The answer does make some attempt to apply to the rail sector in a limited sort of a way (AO2: 1) and there is some attempt to analyse the uses of profit in terms of raising efficiency in a broad sense, which was worth AO3: 1. This made for a total of 2/8.
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Competition regulator backs scrapping of rail franchises.

According to the Competition and Markets Authority (CMA) Britain’s rail system should be
reformed to allow rival train firms to run services on the same routes. This would mean
scrapping the current system of rail franchises (where rail companies bid to provide train
services on a particular route over a fixed period of time) for major intercity routes.

In a recent report the CMA said that more direct competition on routes could lead to lower
fares, greater efficiency and more effective use of capacity.

Figure 1 — The rail industry after privatisation:
» After privatisation the state-owned rail network was broken up. Network
Rail, which is still state-owned is responsible for maintaining the track
system.

» The network is used by both rail franchises and freight operators who pay
Network Rail to use the rail network.

* Rail franchises also pay the government for the right to operate a particular
route (a franchise).

* The industry as a whole is regulated by the Office of Rail and Road (ORR).

Franchising involves the Government setting out what it would like a franchise to do over a
set period (level of service, upgrades, performance etc.). Companies then compete for the
right to operate a franchise to that specification. The Government picks whichever company
it thinks will deliver the best overall train service for the route and gives the best value
for money. Franchise agreements include details of the performance standards that train
operating companies must meet. The Government generally expects franchises to run for
7-10 years.

After a train operator wins a franchise, critics argue they essentially have a monopoly
because they face little competition. In what the CMA described as a “significant departure
from the current system”, it has recommended that “multiple” train operators be allowed to
offer passenger services “in a fully commercial environment” by competing on the same
lines. In other words, more than one company would be able to run trains along a particular
route.

The CMA’s report says the potential for such competition exists on the three major intercity
routes: the East and West Coast Main Lines, and the Great Western route between London
Paddington and Cardiff. There are already a few regionally-based examples of this form of
competition.
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Figure 2 — Rail’s share of total transport 1952-2016
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The chief executive of the CMA, Alex Chisholm, said: “We’ve found that there is strong
evidence, both here and abroad, of the benefits that the introduction of competition on mainline
intercity routes can bring. The need to attract passengers who have a choice between train
operators can mean lower fares, new routes and destinations and more innovations. In a
more competitive environment train operators will become more efficient and there will be
better use of existing capacity — so there are benefits for both rail users and taxpayers (who
help subsidise the railways).”

The Rail Delivery Group, which represents train operators and Network Rail, gave a critical
response to the proposal. Paul Plummer, its chief executive, said: “We must take a joined-up
and consistent approach to competition, freight, franchising, regulation, capacity, the shape
of Network Rail and how we fund much-needed investment. Considering these in isolation is
unlikely to deliver the best results for rail users or taxpayers.”

Mick Whelan, the general secretary of train drivers’ trade union Aslef, said: “The idea that
anything in this report would improve Britain’s rail network is laughable to anyone who works
in, and understands, our industry. Breaking up the railway further will only increase costs.
Competition in the rail industry is a myth. There is only one set of tracks.”

Many with a similar view want to renationalise the railways to re-create a single company like
the old British Rail which was formed as a result of the nationalisation of the privately owned
regional rail companies in 1948.

The government has committed billions of pounds to upgrading the railways. However, rather
than focusing on more competition in the rail network, the best use of this investment might
be to focus on linking the train network to other forms of public transport such as buses and
trams. This would help to reduce reliance on the private car and reduce the market failures
caused by pollution and congestion.
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But the consumer group Which? urged the government to listen to the CMA proposals.
Its executive director, Richard Lloyd, said: “Our annual rail survey shows that millions of

50 passengers are not satisfied with the service they are receiving on Britain’s railways. But
on those lines where there is more competition between train operators, satisfaction is
significantly higher. Passengers shouldn’t have to wait until the end of a lengthy franchise for
services to be improved.”

Figure 3 — Rail fares versus inflation (% change year on year)

% ---- Inflation (RPl) — Rail fares % change
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(d) “The most efficient price for a train operator to set would be price = marginal cost.” How
far do you agree with this view? [8]
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2. (a) | With reference to figures 1 and 2, consider how significant the impact of
commodity prices has been on sub-Saharan African economic growth in
2015-16. [6]

AO2 AO3 AO4
Band
2 marks 2 marks 2 marks
2 2 marks 2 marks 2 marks
Good application Good analysis Good evaluation
Charts 1 and 2 are used | Developed line(s) of Strong counterargument
effectively to support analysis showing that with some sense of the
the argument in the there is clear evidence size of the effect or that
analysis. The data is that African economic some countries are
well-used to support a growth has been affected more than
point/points in the impacted significantly by | others.
analysis and/or commodity prices
evaluation making good use of
economic theory and
explaining the links
clearly.
1 1 mark 1 mark 1 mark
Limited application Limited analysis Limited evaluation
Data is used, but its use | There is a chain of Counterarguments are
is underdeveloped, reasoning, but its use of | present, using either
taking the form of economic theory is data or theory but
occasional references limited. Explanation is development is limited.
rather than forming superficial
strong supporting
evidence.
0 0 marks 0 marks 0 marks
No valid application No valid analysis No valid evaluation

Indicative content:

AO2
Chart 1 shows that commodity prices have fallen significantly — band 2 responses will use
the data directly/process it.

Chart 2 shows that the impact is clearly greater on some sectors than others. Non-
commodity exporters have barely been affected, suggesting that commodity prices make a
big difference, although this clearly varies by country.

AQO3
Commodity prices can have a big impact on economic growth by affecting investment, the
government’s tax base, export earnings and household incomes.

Falling commaodity prices will therefore hit AD, restricting short-term growth.

The impact on government finances may also reduce funds available for investment in
health, education and infrastructure, which may damage potential growth.





AO4

However, not all countries are equally affected — some will be more commodity=dependent
than others.

Economic growth has been damaged by other factors such as tight external financing
conditions and drought.

Nevertheless, the impact has been quite serious — the price fall was very great and countries
such as Equatorial Guinea have been hit very hard.

Alternatively, in many countries, growth has been hit, but remains positive.

In all cases, allow other valid lines of argument.
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Sticky Note

This answer uses the data effectively throughout both to support the idea that primary product prices have a significant effect on growth, but also to come up with counter-points as well. Clear use to support the idea would have been enough, but this is very clearly good application for AO2: 2. The analysis is also very strong. There is a clear chain of reasoning as to the link between primary product prices and growth, with strong use of economic reasoning, giving AO3: 2. Finally the answer evaluates very effectively through an intelligent discussion of what the figures really tell us, with clear support that the impact depends very much on the type of economy considered, giving AO4: 2 and 6/6 overall.
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Sticky Note

The data is well-used to link commodity prices with economic growth and was therefore awarded AO2: 2. Unfortunately there is no discussion of the strength of the relationship, other factors and so on, meaning that it could not be awarded any evaluation marks, giving AO4: 0. There is a limited attempt at the end to explain the link between commodity prices and growth, but this is not well-developed, therefore giving AO3: 1 making a total of 3/6. 
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Sticky Note

This was a common approach which looked only at the data and not the economics. There is clear use of the data to support a causal link between commodity prices and GDP growth in the early part of the answer, giving AO2: 2 and there is an attempt to identify anomalies without explaining why they might be so, for limited evaluation (AO4: 1). At no point in the answer is there any attempt to explain the data (using economic theory or otherwise) meaning that no analysis marks were awarded (AO3: 0), giving a total of 3/6.
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2.

IMF Survey: Weakening Growth in Sub-Saharan Africa Calls for Policy Change

e Growth lowest in 15 years, with significant variation across the region
* Severe shocks: weak commodity prices, limited external finance, drought
e Urgent need to change policies to promote growth

Hit by several shocks

The global commodity price slump
(Figure 1) has hit many of the largest

IMF C

Figure 1

ommodity Price Indices

sub-Saharan African economies (2005 = 100)

hard. While oil prices have recovered

somewhat compared to the beginning ~ Index Energy ----- Total —— Energy
of 2016, they are still more than 60% 220

below 2013 levels—a huge drop.

As a result, oil exporters such as
Nigeria and Angola continue to
face particularly difficult economic
conditions. The decline in other
commodity prices has hurt non-
energy commodity exporters, such
as Ghana, South Africa and Zambia.
Making everything worse is the fact
that external financing is harder to
get and many areas have been hit by
drought.
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Medium-term prospects still favourable

However, the impact of these shocks varies significantly across the region and
many countries continue to have strong growth (see Figure 2).

Figure 2

External shocks have hit many sub-Saharan African countries hard, but the impact
on growth varies across countries.
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While the immediate outlook for many sub-Saharan African countries remains difficult, the
region’s medium-term growth prospects are still favourable. The region’s much improved
business environment and favourable population trends (with a young and growing population)
should help to support growth in the medium term.

Policy change urgently needed to promote growth

The IMF argues that to benefit from this strong potential, however, a substantial policy change
is essential in many cases, as the policy response to date has generally been insufficient.
Many countries are facing the prospect of both trade deficits and budget/fiscal deficits leading
to falling foreign currency reserves and rising debt. In response to this, countries need to use
exchange rate flexibility combined with policies to cut fiscal/budget deficits and to build a
sustainable tax base outside of the commaodities sector.

The required measures may come at the cost of lower growth in the short-term as well as
damage to the countries’ economic development. However, these measures will prevent what
could otherwise be a much worse situation in the longer term if they are not implemented.
These policies would lay the base needed for the region to benefit from the substantial
economic potential which still lies ahead.

Malawi Economic Outlook (African Development Bank report)

In 2015, hit by weather and policy shocks, Malawi’s
real GDP growth was 2.9%, down from 5.7% in 2014.
Floods and dry periods reduced maize production
by 30%, resulting in a 2.3% slowdown in agriculture
sector growth.

The services sector, particularly information and
communication, proved stronger with 9% growth.
This was partly driven by rapid expansion in mobile
phone services. In 2016, economic growth was
forecast to rise to 4%, possibly reaching 4.9% in
2017, with agriculture as the main driving force. The
growth outlook was based on favourable weather
conditions, macroeconomic stability, consistency in
policy implementation and renewed private-sector
confidence. Population growth of 2.8% a year will require consistent economic growth to
reduce poverty.

Fiscal pressures will require stricter controls on government finances and greater transparency
to reduce the mismanagement of government funds. The government has failed to control the
budget leading to large budget/fiscal deficits and higher inflation and interest rates. Inflation
rose to 24.9 % in December 2015 as food supplies ran low and the Malawi kwacha (MWK)
(the domestic currency) depreciated more than expected.

Monetary policy was further tightened to contain inflation and to achieve exchange rate
stability. Inflation was expected to fall to 18.1% in 2016, remaining above the government’s
initial 12% target. The sharp fall in the kwacha has been caused by capital outflows and
persistent current account deficits. The current account deficit was estimated to be 6% of
GDP in 2015 and was expected to remain at that level in 2016 and 2017, reflecting the narrow
export base and strong dependence on imports and external aid.

Urbanisation in Malawi (whereby people move from rural areas to cities) creates both
challenges and opportunities for growth. The country is one of the least urbanised in the
region, but the 3.8% urban growth rate is higher than the overall population growth rate of
2.8%. The major challenge is to meet demand for housing and other basic services, despite
limited resources. However, urbanisation presents an opportunity if its potential to transform
the economy can be fully utilised.





Figure 3

Malawi Interest Rate
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(a) With reference to Figures 1 and 2, consider how significant the impact of commodity
prices has been on sub-Saharan African economic growth in 2015-16. [6]
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2. (c) | Discuss the extent to which the relationship between Malawian interest
rates and the Malawian exchange rate shown in figures 3 and 4 can be
explained by economic theory. [10]

AO2 AO3 AO4
Band
3 marks 3 marks 4 marks

3 3 marks 3 marks 4 marks
Excellent application Excellent analysis Excellent evaluation
The data (charts 3&4 Detailed line(s) of Strong
and/or the case) is used analysis explaining the counterargument
effectively to support the | theoretical links between | Well-developed with
discussion interest rates and the clear judgements with
The data is well-used to exchange rate. supporting statements
support a point/points in All stages in the process | Justified conclusion is
the discussion are both identified and reached.

fully explained

2 2 marks 2 marks 3 marks
Good application Good analysis Good evaluation
The data is used to Developed line(s) of Good counterargument
support the discussion analysis explaining the Reasonably well-
The data is used to theoretical links between | developed with clear
support a point/point in interest rates and the judgements with some
the discussion exchange rate. attempt to support their
At times the use of data Some of the steps are argument
is superficial not fully explained

1 1 mark 1 mark 1-2 marks
Limited application Limited analysis Limited evaluation
Data is used, butits use | There is a chain of Counterargument(s)
is mostly reasoning, but its use of | are present, but none
underdeveloped, taking economic theory is of them are well-
the form of occasional underdeveloped developed
references rather than Explanations are The evaluation is
forming strong supporting | superficial superficial and
evidence unsupported

0 0 marks 0 marks 0 marks

No valid application

No valid analysis

No valid evaluation






Indicative content:

AO2

There are times at which the data does conform to the standard economic theory linking
interest rates and exchange rates, such as early 2013 and late 2014. These factors include
currency moving to the country with the highest rate of return, speculation and so on.

Mostly, however, the relationship isn’t there — rising interest rates in 2012 are correlated with
a sharp fall in the exchange rate and the significant increases in 2013 have little lasting
effect.

Other factors are therefore likely to be important such as the widening current account
deficit, rampant inflation and volatile primary product prices, creating the risk of capital
flight/outflows. Large budget deficits may damage confidence in Malawi together with
concerns about transparency, again hitting the exchange rate.

AO3

Answers in the top band here will tend to make a convincing case for the theoretical link
between interest rates and the exchange rate, arguing that rising interest rates should lead
to inflows of short term capital, pushing up the exchange rates.

Band 1 answers will tend to have a weaker understanding as to why short term capital flows
are triggered, with the mark overall for AO3 depending on the depth and clarity of the
explanation of the theoretical link.

There are three key elements that can be mentioned:

1 That higher interest rates should attract hot money

2 The reasons for that

3 The hot money will increase demand and therefore push up the ex rate.

Separately, a weaker but still valid argument is that higher interest rates will reduce domestic
demand, cutting imports and therefore reducing the supply of Kwacha.

AO4

Band 2 and 3 answers will show a clear understanding that there are many periods where
the standard relationship does not hold and will have clear alternative hypotheses for what
might be going on and will conclude either that standard economic theory cannot explain the
links, or that it can, but we need to look beyond interest rates.

Relevant other factors that are likely to be brought in include:

Rapid inflation will cause the exchange rate to fall even if interest rates are rising due to
falling competitiveness and lack of confidence.

Volatile commodity prices which impact Malawi’s export earnings and FDI are likely to play a
large role.

A widening current account deficit and a worsening fiscal position may also have an impact
on the exchange rate, cancelling out the effects of rising interest rates.

Possibly currency speculation/capital flight.

The analysis in AO3 and AO4 is reversible.
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Sticky Note

The answer starts off slightly shakily, but recovers very quickly to explain that the apparent link between the interest rate and the Kwacha is not what would be expected. The explanation of the theoretical link was not convincing but did have some explanatory depth (particularly through the demand-deflationary effects), giving AO3: 2. The data was used intelligently throughout – the chart was well-used, but also the broader qualitative information from the case was used to make a range of good evaluative points. The evaluation centred in well on the idea of the extent to which we could explain the chart using economic theory and the answer built effectively to a final conclusion that was well-supported by the previous analysis. As a result, the answer was rated as ‘excellent’ in both application and evaluation (for AO2: 3 and AO4: 4), giving 9/10 in total.
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Sticky Note

The answer is generally strong throughout without ever quite having the depth of discussion and analysis that marked out the very best. The case was used to an extent, but was light on the more qualitative aspects of the case that really explained the decline in the Kwacha, but there was enough there for AO2:2. Likewise the explanation of the theoretical link was good without ever quite taking the final step to explain why interest rates affect hot money flows (AO3: 2). Finally the evaluation had some merit but wasn’t really central to what was happening, meaning that the AO4 was at the top end of limited (AO4:2). This gave a total of 6/10.
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Sticky Note

This answer unfortunately misreads the chart and argues that the kwacha is appreciating when it is, in fact, depreciating. Nevertheless, there is some limited attempt to use the data, giving AO2: 1. The answer correctly identifies the theoretical link between interest rates and exchange rates, but the explanation isn’t fully convincing giving ‘good’ analysis (AO3: 2). Perhaps because of the misinterpretation of the chart, there is no attempt to discuss the extent to which the relationship can be explained by economic theory, meaning that there is no evaluation present, meaning AO4: 0. This gave a total of 3/10.
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2.

IMF Survey: Weakening Growth in Sub-Saharan Africa Calls for Policy Change

* Growth lowest in 15 years, with significant variation across the region
» Severe shocks: weak commodity prices, limited external finance, drought
e Urgent need to change policies to promote growth

Hit by several shocks

The global commodity price slump
(Figure 1) has hit many of the largest

Figure 1

IMF Commodity Price Indices

sub-Saharan African economies (2005 = 100)

hard. While oil prices have recovered
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face particularly difficult economic
conditions. The decline in other
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energy commodity exporters, such
as Ghana, South Africa and Zambia.
Making everything worse is the fact
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drought.
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Medium-term prospects still favourable

However, the impact of these shocks varies significantly across the region and
many countries continue to have strong growth (see Figure 2).

Figure 2

External shocks have hit many sub-Saharan African countries hard, but the impact

on growth varies across countries.
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While the immediate outlook for many sub-Saharan African countries remains difficult, the
region’s medium-term growth prospects are still favourable. The region’s much improved
business environment and favourable population trends (with a young and growing population)
should help to support growth in the medium term.

Policy change urgently needed to promote growth

The IMF argues that to benefit from this strong potential, however, a substantial policy change
is essential in many cases, as the policy response to date has generally been insufficient.
Many countries are facing the prospect of both trade deficits and budget/fiscal deficits leading
to falling foreign currency reserves and rising debt. In response to this, countries need to use
exchange rate flexibility combined with policies to cut fiscal/budget deficits and to build a
sustainable tax base outside of the commodities sector.

The required measures may come at the cost of lower growth in the short-term as well as
damage to the countries’ economic development. However, these measures will prevent what
could otherwise be a much worse situation in the longer term if they are not implemented.
These policies would lay the base needed for the region to benefit from the substantial
economic potential which still lies ahead.

Malawi Economic Outlook (African Development Bank report)

In 2015, hit by weather and policy shocks, Malawi’s
real GDP growth was 2.9%, down from 5.7% in 2014.
Floods and dry periods reduced maize production
by 30%, resulting in a 2.3% slowdown in agriculture
sector growth.

The services sector, particularly information and
communication, proved stronger with 9% growth.
This was partly driven by rapid expansion in mobile
phone services. In 2016, economic growth was
forecast to rise to 4%, possibly reaching 4.9% in
2017, with agriculture as the main driving force. The
growth outlook was based on favourable weather
conditions, macroeconomic stability, consistency in
policy implementation and renewed private-sector
confidence. Population growth of 2.8% a year will require consistent economic growth to
reduce poverty.

Fiscal pressures will require stricter controls on government finances and greater transparency
to reduce the mismanagement of government funds. The government has failed to control the
budget leading to large budget/fiscal deficits and higher inflation and interest rates. Inflation
rose to 24.9 % in December 2015 as food supplies ran low and the Malawi kwacha (MWK)
(the domestic currency) depreciated more than expected.

Monetary policy was further tightened to contain inflation and to achieve exchange rate
stability. Inflation was expected to fall to 18.1% in 2016, remaining above the government’s
initial 12% target. The sharp fall in the kwacha has been caused by capital outflows and
persistent current account deficits. The current account deficit was estimated to be 6% of
GDP in 2015 and was expected to remain at that level in 2016 and 2017, reflecting the narrow
export base and strong dependence on imports and external aid.

Urbanisation in Malawi (whereby people move from rural areas to cities) creates both
challenges and opportunities for growth. The country is one of the least urbanised in the
region, but the 3.8% urban growth rate is higher than the overall population growth rate of
2.8%. The major challenge is to meet demand for housing and other basic services, despite
limited resources. However, urbanisation presents an opportunity if its potential to transform
the economy can be fully utilised.





Figure 3
Malawi Interest Rate
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(c) Discuss the extent to which the relationship between Malawian interest rates and the Malawian
exchange rate shown in Figures 3 and 4 can be explained by economic theory. [10]











